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HPAS (M)—2014
COMMERCE AND ACCOUNTANCYA
Paper 1

Time : 3 Hours Maximum Marks : 150

Note :— Attempt Five questions in all. Question No. 1 is

compulsory. All questions carry equal marks.
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1. ‘A’ purchased a machinery on 1st January 2015. He paid
- Rs. 4_,()00 on delivery aﬁd Rs. 10,000 at the end of first
yvear, Rs. 8,000 at the end of second year and Rs. 4,000
at the end of third year. The Vendor) charges interest
at 10% per annum on cash price. The instalment includes
interest. Prepare purchasers éccount in the books of

vendor.

P.T.O.



ot

b

( 2 ) Comm. & Acco.-1
AT T T 1 SHE 2015 1 A BT AT T goEh
GT 4,000 T. AT GAH IH H AW 9 10,000 T. F TER

T oh =T U 8,000 T. & gAT T B 17 UL 4,000 B.

_ﬁ‘alﬁwmwwmmerﬁmmém

A%lmﬁmm,%lﬁaﬁmﬁ.mﬁw

FT WAl SAEA |

(a) Distinguish between amalgamation in the nature
of merger and amalgamation in the nature of

purchase.

b) , What is independent branch ? How are the
accounting records of such branch incorporated in

the books of Head Office ?
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Below is the enumerated expenditure in the manufacture

of commodity X :

Particulars Three months

ended 31.12.2014

(Rs.)
Raw Materials 28,000
Fuel _ . 6,900
Elevctric Power 1,340

Process & General Wages 63,500
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Repairs 2,400
Haulage 1,060
Light & Water 400
Rent 2,000
Rates & Insurance 300
Office Salafies & General Expenses 7,000
Administrative Expenses 5,000

S Depreciation on Machinery 2,500

e

1,20,400

Manufactured (in ton) — 17,200

Prepare a cost sheet showing the cost per ton of each

item of expenses and the total cost per ton for the

period.



( 5 ) Comm. & Acco.-1

X axg » fmion # oftfom == 9 ©

faaor . | Three months

ended 31.12.20'14

(&)

et ST | | 28-,0'00

Ei= , | 6,900
foga o | - | ‘. <. 1,840
gfss=m wa HET Trfxsrtass | 63,500

“ T A 2,400
fa=g == | | | 1,060

’ ‘t?—ﬁl?f’rq—ormﬁ’r 400'
W ~ — ‘ 2,600

T:Fi q = ' 309

P.T.OQ.



( 6 ) Comm. & Acco.-1

HEATT 9d9 W E\THR o9y | | 7,000
LRSI i e | | 5,000
"I WX 8™ 2,500

1,20,400

‘=

(fafda ==) — 17,200

S Fafy =k fow s erra 93 9ar sifsie st ufa

¥hIE =99 i @PTd a=1 STafa &Y ufa =9 we era
fezams= |
(a) From the following information find out :

() Contribution >

(ii) Break Even Point

(ii) Margin of Safety

(Zv) Profit
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Total Fixed Cost

Total Variable Cost

Total Sales

Units Sold

9,000

15,000

30,000

10,000

How many units should be sold to earn a profit

of Rs. 12,000 ?

b) Explain the term marginal costing and discuss its

advantages.
@ = g==est ¥ 9| sitsg

@ ATEH



( 8 ) Comm. & Acco.-1

Eas iR iR am. » _ 9,000
;W vﬁaﬁ#&rﬁa 'c'fIT’R’f | ' : 15,000
EAREED E : ' 30,000
TTeat A= | 10,000

1,2,(500 . T M9 9T H & fou foeait sw=ar
S = nfed ?
®) Fﬁﬂﬁé@m@mwmﬁ%ﬁtmw

g § ?

" Discuss the comparative and relative advantages of the

@following for the appraisal of investment worth :

(a;); Internal Rate of Return
(b) Pay back.

Why is internal rate of return called internal rate ?
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How are share forfeited ? Give journal entries for

forfeiture of shares.

Draw up an audit programme for an educational

institution.
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What principal factors are to be considered when
computing a machine hour rate ? For what purpose
machine hour rate is computed ?
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(a) Difference between Tax avoidance and Tax
evasion.
b) Concessions available to small scale industry under

Central Excise Act.

(e) . From the following information, calculate the tax
liability of Mr. H. Kumar for the assessment

year 2015-16 :
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Particulars Rs.

1. Income from Salary 2,50,000

2. Rent from House Property 30,000

3. Long Term Capital Gain 20,000

4. Dividend _Income 15,000

5. | Interest 9,800

6. Contribution to PPF 20,000

3: 7. Life insurance Premi_:am Paid 20,000
8.  Health Insurance Premium Paid 8,000
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